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U.G. 1st Semester Examination - 2022

CHEMISTRY
[PROGRAMMI(]
Course Code : CHEM- G CC- T-01
Full Marks : 40 | Time : 2 + Hours

The figures'in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any five questions from the following: /@gf"%@
| 2x5=1025, '5’;;
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2) erte down the electromc conﬁguratlon of
As* ion. '

As3'+ ion-3 ETRGIE FAPAICPI, T |

'b) “Anan‘ge the following 1n ih'crﬂea'sing order of
. their size:

Wmﬁwmmm@am
AES ¢
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c) Which one (NlO NiS) is more stable and why?
@B (NIO le) @ o= TR 2
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(CH,),N is a strong base but (CI,),N is not
basev— Explain,
(CH,),N @l R base Rg (CF,),N
— s T
Which one of the following is more acidic and
why?
p-Chlm‘ophenbl, p-Cresol.

AxfERe @RE QR SER @R @2

para- @I, para- (eI

Draw the stereo structure of (R)-2-butanol.

| (R)?WWWI
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194/Chem.

lefelentlate ‘the following by chemlcal M-

reaction: |
But-l-ene and But-1-yne.,
TR e =l ﬁﬁ%ﬁ— CRCSI 0 91121'?5!

B

But-1-ene @} But-1-yne

Write down two basic differences between El

and E2 reactions.

E] 2¢ B2 Rifears sug i ol i @1
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2 Anqwcn any two questions from the 1olkqw\n;,

oqu\ © 5%2=10

fwfaiie @-ce g ﬁm@@mq@ g

_-a)

-

194/Chem.

i)

Aiil)

Calculate the wave length of the spectral
line of hydrogen atom when clectron

. jumps from 3rd Bohr orbit to Ist Bohr

orbit. [R=109700 cm™']

BIGITET 2R I AT IR ol
9, T 2ETPRH GO (AN FTHAY (AT S
@7 Fele T | [R=109700 cm™']

Write down the-values of four quantum |
numbers (n, l,'m, s) of valence electrons
of Mg. ' . 3+2=5
Mg-a3 Sk BCEASLS, SEMG_ERroE
Hﬁﬁm'ﬂ(n,l m,s)iﬂﬂcﬂm .. .
NH Cl acts as an acid in 11qu1d ammoma
— explain. |
NH,Cl wmﬁamwﬁ@&ﬂmm -'
T | P A
Arrange the -following in increasing
order of Lewis acnd character and give
reason: ‘ .. 243=5
A3A SHIBTET TR TS
RrRiReaf eme G T e 8

" BF,, BC,, BBr,

[3] | [Turn over]



B): 1)
| ‘ii)'
4 1)

194/Chem.

Compare the acidity of benzoic acid with
sallcyllc acid.

AR B @ ﬂm%fﬁfms wfTes

oS! e |

Write down the product(s) of the
followmg reactlon w1th mechanism:

~' _ 2+3=5
s R mﬁwvﬁﬁﬁ‘aw ool
Nas)R]
Trans-2-butene _A'ka'i';:ng"o‘ >

Write down fché necessary and sufficient

‘ condition for-a compound to be optically

: aCIIVC

azﬁi% I W ST 2931 &)

. efmﬁﬁlﬂm"wm‘ @R |

F 1nd out the absolute. conﬁguratlon of

C-2 and C 3 carbon atoms of meso-

tartaric acid using R/S notation.
3+2=5

Smmﬁwwm-mﬁﬁas
Wrﬁmczm\c-ﬂvm’amcﬁm“

- RPAIIT 4ee (9 )
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3. Answer any two questions from the following:

10x2=20

s Q- gt e S e ¢

a)

b)l

194/Chem.

i) ~ What is Rydberg Constant? Derive
Rydberg Constant value for hydrogen
atom from Bohr equation.

Rydberg &< &5 @17 T390 (AT

QRGITEH 197 &= Rydberg £ S+
g 39 | o

ii) Compare the value of second ioniéation

~ potential of Phosphorous and Sulphur
atoms. S

o FAFTIT QIR A1 AT T%@m

SRR R R, e |

' 111) Tllustrate Pauh S Exclusxon Prmcxple

with example. . -
iy) Count the number of unpaired electrons
. present in Ni*', (1+4)+2+2+1=10
Ni*9q R (SeIR SRR AR
BCEC K TR

i) Is Zn*" a hard acid or soft acid? Explain_
by HSAB principle.

| Zn”méwﬁvmmwﬁw HSABfﬁf%
I P T
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iii)

What is differentiating solvent? Give
example.

Differentiating solvent % ? Swizae @IS |
What is formal potential?
Formal potential /2.

Balance the following equation using
jon-electron method: 3+2+(2+3)=10

WW@WWWW
(3 el [y 9 3

K,Cr,0, + KI+HCl — KCl+ CrCl, +1, +H,0

ii)

iii)

194/Chem.

Which one of the following is more

basic? Explain.
Methyl amine and aniline.
feoe i R =R e a1
EREGAIDESEEEREI BT

But-2-ene is more stable than but-l-ene.

Explain.
But-2-ene, but-1-ene-93 QT &M
FfoRte | <t 3|
Which of the following cations is more
stable and why?
CH,CH,CH} and CH,OCH;
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d)

194/Chem.,

iv)

i)

iii)

e (17 cation @R oM 92 @2
CH,CH,CH} €<% CH,0CH!

Cis -trans isomers are diastereomers.
Explain .

Cis -trans Wﬁm‘fflﬁ@%{ Wﬁﬁ@ﬂﬁl
RO F9

Lactic acid_ 1s optically active but
propanoic acid is optically inactive.
Why? 2+2+2+2+2=10

anasf%‘as wrife e Afes e
cmﬂnmﬁawﬁ@wmﬁ%mm?

Convert: Czs 2- butene to trans-z-

butene

 Cis-2-buterie-Ge m-z-qr%m T 37|
Write short note on Hydroboratlon—

oxidation reactlon

G w@wﬁﬁw@mw\m *

B )

An alkene having molecular formula
CH, produces only one carbonyl
compound on ozonolysm Identlfy the
alkene
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iv)  Lixplain Saytzeff's rule with suitable

c\amp]c 2+3+3+2=10

@‘ﬂ@@mﬂw mﬁtwﬁmamﬂ-ﬂl




